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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
1) 6,291 - 2,344 =
2.
2 97 - 18 = 3
4,
3 2,658 - 98 =
5.
4 64 - 19 = o
7.
5 9,430 - 43 = g
9.
6) 9,252 - 3,807 =
10.
) 947 - 11 = 11,
12.
8 6,658 - 608 =
9 5,798 - 490 =
100 91 - 3 =
11) 912 - 288 =
12) 959 - 3 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1 3,947
1) 6,291 - 2,344 = 3,947
5 79
2) 97 - 18 = 79 3. 2.560
4 45
3 2,658 - 98 = 2,560
5 9,387
4 64 - 19 = 45 6. 5,445
7 936
5 9,430 - 43 = 9,387 o 6,050
9 5,308
6) 9,252 - 3,807 = 5,445
10. 88
7) 947 - 11 = 936 11. 624
12 956
8 6,658 - 608 = 6,050
9 5,798 - 490 = 5,308
100 91 - 3 = 88
11) 912 - 288 = 624
12) 959 - 3 = 956
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C:# Subtraction (Horizontal) Name:

Solve each problem. Answers
5,308 2,560 88 79 5,445
45 9,387 6,050 3,947 936 1.

1) 6,291 - 2,344 =

2) 97 - 18 =
5.
3 2,658 - 98 = 6.
7.
4) 64 - 19 = 8.

5 9,430 - 43 = o

6) 9,252 - 3,807 =

) 947 - 11 =

8 6,658 - 608 =

9 5,798 - 490 =

100 91 - 3 =
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